x0=sqrt(2)

xl=sqrt(3)

x2=sgrt(5)
y0=sgrt(2)*sqrt(3)+sqgrt(7)
yl=sqrt(7)+3
y2=sqgrt(3)*sqrt(5)+sqrt(7)

show( 1] ( ",XOI ||, ",YO, n ) 1] )
ShOW("(",Xl,",",yl,")")
Show( n ( Il,X2, II’ ll,y2, n ) n )

(V2,32 + 1)
(V3,7 +3)
(v5,v5v3 + V1)

A=matrix([[1,1,1],([x0,x1,x2],[y0,y1l,y2]]);
show (A)
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maxima calculus('algebraic: true;')

true

show(det (A) .canonicalize radical())

slope=(y2-y0)/(x2-x0).canonicalize radical()

cterm=(yl-slope*xl).canonicalize radical()

f(x)=(slope*x+tcterm).canonicalize radical()
show (f)

T /3T + /7



pl=plot(f(x),x,0,3,linestyle="dashed")
ptO0=point((x0,y0), rgbcolor='red', pointsize=80)
ptl=point((x1l,yl), rgbcolor='red', pointsize=80)
pt2=point((x2,y2), rgbcolor='red', pointsize=80)
(pl+ptO0+ptl+pt2) .show(ymin=0,xmin=0)




